Самостоятельная работа.
Вариант 1.

№1. Перечертить и заполнить таблицу:

	х
	4
	5
	7
	11
	19
	-1
	0
	-7
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№2. Упростить рациональное выражение и найти его значение:

а)  [image: image3.png]12

2 _4



 + [image: image5.png]


            при   х=2002

б)  [image: image7.png]2 19%4+1



 – [image: image9.png]


     при   х=19

Самостоятельная работа.

Вариант 3.

№1. Перечертить и заполнить таблицу:

	х
	12
	6
	4
	3
	2
	1
	-1
	-2
	-3
	-4
	-6
	-12
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№2. Упростить рациональное выражение и найти его значение:

а)  [image: image12.png]12

2 _4



 + [image: image14.png]


            при   х=2002

б)  [image: image16.png]2 19%4+1



 – [image: image18.png]


     при   х=19

Самостоятельная работа.

Вариант 2.

№1. Перечертить и заполнить таблицу:

	х
	6
	4
	9
	5
	15
	0
	8
	-5
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№2. Упростить рациональное выражение и найти его значение:

а)  [image: image21.png]


 + [image: image23.png]


            при   х=1999

б)  [image: image25.png]2 —2%t1



 – [image: image27.png]xt+1
c—1



     при   х=21
Самостоятельная работа.

Вариант 4.

№1. Перечертить и заполнить таблицу:

	х
	10
	5
	2
	1
	-1
	-2
	-5
	-10
	20
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№2. Упростить рациональное выражение и найти его значение:

а)  [image: image30.png]


 + [image: image32.png]


            при   х=1999

б)  [image: image34.png]2 —2%t1



 – [image: image36.png]xt+1
c—1



     при   х=21

